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For it is in his power to feed him Terumoh  — 721902 Y9558TH 1720

OVERVIEW
>27 ruled that a father is 1K1 to be 72170 9°987 to his son since it is 17°2 of the father
717N 1220879, Our Mooin discusses the efficacy of this 17°2.

nooIn asks:
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It is astounding! How can we believe the father regarding 1190 because of this

17°2, for it is not Y792 of the father to be »358% his son 7m0 after the death of the

father -
=M DT PN D ONY

And therefore since it is not 7N MK 17°2, this is not a proper 1A% N2 12°2x77!

mdoINn proves his point (that the MRl of 17°2 does not extend beyond the 17°2):
= (3,ny 97 PYITPT RN P99 9192 22) (3,19p xIna Na2) PINN YW 1O¥NY D

Like we find in 11 @° P75 and in the last P25 of P@17p noon regarding =122 -
- %915 29993 %33 AT IV DN PRI AN 529 YN INID BIINRY 199599 9999 NrInT

Where the Xn>»92 teaches; ‘the 770 writes 9923, we interpret it to mean he (the
father) can make it recognizable to others as well; from this 7105 5''9 ruled that

a person is believed to claim this is my son the 9123, etc. The xn3 there continues -
- 99 257 NY 9 NINM 1YY ANNY S92 1PN DIV 99 99 NNY KN KNaYH “innk

In regards to what ruling is the 7°>° necessary, if it is necessary to give this
alleged 7122 a double portion of the inheritance, this cannot be for if the father
wanted to grant him this additional portion as a gift, could he not give it to

him?! He obviously can, so there is no need for a 7109, since it is 172. The X3 answers, the
105 of 3" -
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! The son should not be able to eat 717N after his father’s death, since it is not longer 17°2 of the father 77170 192875,

See ‘Thinking it over’.

* In »,8%5 (X¥N) o™27 it states; 2239 *2 5 NN 122 RN 12 1927 DY °3.

? The father is believed even if initially another son was presumed to be the M22.

* The xn3 there actually asks this question of Xn2971 *Xn> according to the 7127, who argue with *"1 and maintain that

a father is not believed to say M32 17 "1, where it was always assumed that another son was a 7122. The X na

therefore initially asked according to the 7127 why the P05 of 71°2” is necessary since the father is not believed against

a P, The X3 answered that 7727 is necessary where there was no P11 7122 and the father testified that this son is

the 2. The Xm3 asks again Xn>%i X as mentioned in MdOIN.

> A oo is a person who is about to expire and is not capable of carrying out any valid transactions. When the father

received these assets he was in no position to grant them to his son as a gift since he was a 0o, therefore the 770
1
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is necessary only regarding the assets which father received while he was a o9,
This concludes the X713 there.

mooIn concludes his question:
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It is evident from that X713 that if not for the 2192 of 7°2° the father would not be

believed regarding these assets DD X1IWD 12 1901w, because it is not 1792 (even
though he would be believed regarding his other assets, which were 17°2 to gift them to his 7122).
The question of Mo0IN is that here too, the father should only be believed 1170 112 25879 as long
as the father is alive, for then it is 17°2, but not after he passes on since it is no longer 172!

N1B0IN answers:
- Y1527 DU 199N 1959RNY PANT 1159 NINT 3T NI4T 91099 W)

And one can say; that the two cases are not similar, for here since he is

believed to feed him 7”70 while the father is alive since it is Y792 -
1NN INNY IPON PINIT NI X920

It is logical that the father is believed even after his death.

SUMMARY
Regarding 1172 the power of 17°2 extends even 7in°» AnX? when it is no longer 17°2
(as opposed to 7132 where it is limited to the 17°2).

THINKING IT OVER
Is mooIn question that he should not be believed mn°n nX? (only),8 or is MooIN
question that he should not be believed at all even o»mn?!’

writes 7°2° that if the father previously identified this son as the 7133, then he receives double even from these assets
even though it was not 17°2 of the father to grant him these assets.
® See *"1n (in the margin) which states: 7599 57 1997 19 JA%1 19932 1129970 BRW 231 1 71 PRT PR WA WP T
RI7 37729 212 1R 1% DYDY TR 7O VWA AN BRI 17w wAnh PRI IR0 TR D2 DU 370 R MRPT RN
SRS MIBRIN SNNIR QYIBAW TINNTY 7N N NIDDIND L3077 R} M1 TWR INWL 32 aR7. See 7"'mn.
7 mpoin does not state what is this X120 that the father is believed even 7in" qnX. See w"w who makes the following
distinction that regarding 72170 since he eats o>nn (for it is 17°2) then it will be a mockery (X720X1 X31) if we
prohibit him from eating 1n°» X% 72170 (for he either is a 373 or not a j712); however regarding assets it can be
understood that in certain assets he receives 0°1% *» and in others he does not, just as he does not receive 021w *» if it
only "1 (meaning debts that the father is owed) and not prmn. See 7"w1n and IR7577.
¥ See footnote # 1.
? See VO MX ™YW Y.

2

TosfosInEnglish.com



